CEEMATYON 5 77— it
H

2] YRk304FE4 H 28 H ~ A% 304E7 H 1 H
KEEFH 7,996 N . EIACEL 29 B

1 MR L B

; ; A [E] - A EE AR ENE Er AR EEE N
INEAELIE 2 2 0 1 1 0 0 1 0 1 0 4
EEE 4 0 0 1 1 0 0 1 0 1 of 4
16~195% 2 0 0 0 0 0 1 0 0 1 of 2
2055 1% 3 2 0 1 1 2 0 0 1 0 of 5
30/ 1 0 0 0 0 0 0 1 0 0 of 1
40581 4 2 0 2 1 0 1 0 0 2 of 6
50X 2 1 0 0 0 0 0 1 0 2 of 3
60l 0 2 0 0 0 1 0 1 0 0 of 2
70 LA I 1 0 0 0 1 0 0 0 0 0 of 1
RS 0 1 0 0 0 0 0 0 0 1 o1
aal 19 10 0 5 5 3 2 5 1 38 ol 29
| B (ib&mst) AR
0ELLE | | EREE ERHERN
oy 3% 3% INEELT RHETH (24)
607% 1% %
7o, 1 ZOMOEBEFR
e BER(1E), REH(64). TER(24) . #R)IR(24).
soﬁﬁ& 100, BEER(22) LKR(14). 5FE(18) . BER(1A).
10% o REFF(12). BEENR).BHNE(1R). EER(148)
208K 'l " 16198
30/Eft 20mA
4% 17%
BLhl Hhigg Al
Z0th |ES FER
@)% 28% 0% 17%
Bt 0%
34%
EHHR

EHERA
4%

17%

\ | s
66%



2 REEREI%K

=
o
)
@
J
m

Al
5]
W

. . I T3 ) WU | 2lal | 31l | 4lE] | 4]
| |
FERB [T T 2EE | 3E B ok | s JEE B v | B A |k
INFEAEDIE 2 0 2 0 0 HIEX 3 0 2 0 0
A 4 0 0 0 0 H IR X 5 0 0 0 0
16~195% 2 0 0 0 0 FARX 1 1 0 1 0
205% 1% 4 0 0 1 0 KEX 1 0 1 0 0
305N 1 0 0 0 0 JRIX 4 0 1 0 0
405% 1% 4 0 2 0 0 HIRIEN 1 0 0 0 0
5055 1% 3 0 0 0 0 Z D 7 1 0 0 0
605t 1 1 of o o AL ol ol ol of 0
70m L | 1 0 0 0 0 &al 22 2 4 1 0
FEES 0 1 0 0 0
o2&l 22 2 4 1 0
(N 2 REEH FRE o 2 REEH B
25 25
20
mEEE 20
|70k L E mEEE
15 m60% X 15 L B0l
| m50iR% EHER
401X mRX
10 10
305Kt || [ P N=]5
m 201t EHREX
5 16~ 197% 5 m EHEX
m [ | mEER
[ oy
. . B . - mNEET i I m I
(% 2 3 4 i3 2 3 4 B
L (=] =] = E Tl m m +t@m &
& B = Ll = H g S &
T +
3 RICADIECAHEHEE)
B [y [FER R ey |0 BB 2o |mms
INEAEDITE 3 2 2 1 1 0 1 0 0
b A 0 3 3 3 1 0 2 0 0
16~195% 2 1 1 1 0 0 1 0 0
20551\ 3 1 2 2 0 0 0 0 0
305% % 0 1 0 0 0 0 0 0 0
40554 5 4 4 2 1 1 1 0 0
505% 1% 3 2 2 1 0 0 0 0 0
605N 1 2 0 0 1 0 0 0 0
705 0L _E 0 0 0 1 0 0 0 0 0
HEES 0 0 0 0 0 0 0 1 0
o8 17 16 4] 11 4 1 5 1 0
. 3 RICA-=Fr(EHEE)
mEREE
16
14 I I . m70iELLE
12 B 60 1%
10 . W50 K
8
6 . . . . 40X
4 I I - B30 1%
2 m20i% 1%
- i 5 i .
BE BE

Bo— EHIRY TH-BE ARFE ot REE
=

T



4 SEIQORERELEZTHAEHEE)

4. SR E RA EZ T -7 GEARHE)

LTI A fn@it; Ablenr PR 2o |mem
R I BDJ:< N <
INEAEDITE 1 0 0 0 0 3 0 0
e 0 0 1 0 0 3 0 0
16~ 195% 0 0 0 0 0 1 1 0
205% 1% 0 0 0 0 1 2 2 0
305K A% 0 0 0 1 0 0 0 0
405%1% 0 0 0 1 2 2 1 0
50554 0 0 0 0 1 2 0 0
601X 0 0 1 0 0 1 0 0
705 LA _E 0 0 0 0 0 0 0 1
e ] 0 0 0 0 0 1 0 0
oEl 1 0 2 2 4 15 1 1
4 SEIOEEREEZTHS =N EHEL) FL/5

16
14
12
10

N~ OO

o Em
FLE-S
ot

mEEE

= =

l m70RE L E
W60 1<

m50% 1K

. 405X
[ | 30
. B B . mm  "OER
R e WKL h—LA  bLL EELT oM EEDE

Y-FLYE R—D
<

4. SRl eE EA 2 Ti-o7-0 e HR])
. BT
ey (70 TV gy B e [RERL oo |
A L VIV E
BIEX 0 0 0 1 1 3 0 0
‘BT X 0 0 0 0 2 2 0 1
FRIX 0 0 1 0 0 0 2 0
KHX 0 0 0 0 0 0 2 0
RIX 1 0 0 1 1 2 0 0
HEIRIEN 0 0 0 0 0 1 0 0
Z DM 0 0 1 0 0 7 0 0
EE 0 0 0 0 0 0 0 0
2% 1 0 2 2 4 15 4 1
4 SEOLEREECTH-NMEEHEE) BiEHH
16
1 B 20
- ERIE R
mRX
10
. | PN=]d
EHR
6 | " EHEHK
4 -
| BEER
2 - | . .
o I [ | [ |

TLE-SY #E-#E mRZ&Y. R—LX—  B5L  EELT Zoft R

FhYLL %



5 BMEETOELRBFER

5 . Ed Eﬁ% D |4 . 3 E% RNE:
wfen |mk n [BF it oo (e C T A PE s i{%f& e
INEEDLE 0 0 3 1 0 0 HEX 1 1 2 0 1 0

e 2 0 0 2 0 0 BRI X 1 0 1 3 0 1
16~195% 1 0 1 0 0 0 AR 0 0 1 2 0 0
2051\ 2 1 0 3 0 0 pNEES 1 0 1 0 0 0
30t 0 0 1 0 0 0 TRIX 1 ol 2 2 o o
405%4% 1 0 2 1 1 1 EHREN 1 0 0 0 0 0
505 % 1 0 0 2 0 0 Z D 2 0 2 4 0 0
601K 0 0 2 0 0 0 e [m] % 0 0 0 0 0 0
70/ DA [ 0 0 0 1 0 0 e~ 7 1 o[ 11 1 1

e ] 0 0 0 1 0 0
oEl 7 1 o 11 1 1
(N B IHREFE E4/F oS 5 EHEFER FBiEHA
12

8 I . 8 EHER

mEEE e
10 [ | 10 mAREE
| m 708 Bk I B Z O

] m 601t 6 I EER
, . n m SO . || = AR
. ERX
2 I 404 2 I I " EHHR
0 l [ W30 0 L B E eExx
8 A B8 B T %K . g A~ B B = =&
F 2 ¥ & o @ WOER £F 2 ¥ E 0 0B
A = % R = f# #
= . B -
1 %
6 SEOEEEMTIMYDN =L IORARIFLHAMNTLEN
: ; , > o [ECH TTH ) I G P
‘%ﬁﬂu S L e R A e A Bl K B
INFEAEDIR 3 1 0 0 0 0 HIEX 3 2 0 0 0 0
FREEAE 3 0 1 0 0 0 =R X 3 0 1 0 0 1
16~195% 2 0 0 0 0 0 FARX 0 2 1 0 0 0
205% 1% 1 3 1 0 0 0 KEX 1 1 0 0 0 0
305N 0 1 0 0 0 0 SRIX 2 2 0 0 1 0
4051 1 4 1 0 0 0 R 0 1 0 0 0 0
5051\ 1 1 0 0 1 0 Z D 2 4 2 0 0 0
605t 0 2 0 0 0 0 e[| % 0 0 0 0 0 0
70m LA | 0 0 0 0 0 1 e 1] 12 4 0 1 1
RIS 0 0 1 0 0 0
28 11 12 4 0 1 1
(N 6 TREROAREZESH FH/KB N 6 TEROARIEESH B
14 14
m EREZE
4 O] 25
12 m 7085 Ll E 12 mREES
m B Z0ft
10 W 607 X 10 =R
. [ | W 5055 1% . RX
40m% 1% = AER
6 6 I EME
m 301t .  EHBX
4 N m 208 4 I nEER
2 16~197% 2
. N H = 0 15 N
R T N & Em A T & B
T B o # T @® T B 2 @& T @
% 5 S b > v &
b = i 0
<] & <3 #




7 FRELEWERWFETH

R R ‘O =
. HOKEE |BEE | B7 | HEn] N S B ||
Lz g
N 0 4 0 0 HEX 3 2 0 0
e 2 2 0 0 B IR X 3 2 0 0
16~195% 1 1 0 0 AR 2 1 0 0
205% 1% 3 2 0 0 pNEES 1 1 0 0
30l 0 1 0 0 TRIX 0 4 1 0
40551 % 5 1 0 0 HIREA 1 0 0 0
FUERAS 2 0 1 0 Z DO 5 3 0 0
605t 1 1 o o0 PRAEIELS ol o ol 0
70m L | 1 0 0 0 &F 15] 13 1 0
LS 0 1 0 0
ol 15 13 1 0
16 16
T u REE 14 mEEE
12 B " 70 LE 1 » Z0k
W60t i
10 5084k 10 B
¢ I 408 s . " RE
6 m30R%E 6 " AEE
4 I m 20K 4 HHE
16~197% 2 I " ERHE
2 & -
. B - m s 0 - "R
" " A " mNEELT # 1 = =
v & b ® v 2 H &
x  nN # = * A & &
Ly N e » LY
B F:5) L
L n L n

P
-



TERMIEHHMEOR2 17 7—rEq

AN
=

SKEEE 9,299 A

1 MR FRKL B

A

TRR304ET H 14 H ~ERp%304E11 H4H

A 212 A%

i

e

(=

B

}

>
Juny
I
=

B ; e | H TD | =
INEAEDUE 46 49 0 13[ 27 6 8] 32 6 3 of 95
A 2 4 0 0 1 0 3 0 1 1 of 6
16~ 195% 8 3 0 3 1 0 3 0 2 2 of 11
205 1% 8 3 0 1 0 0 1 0 5 4 o 11
305N 4] 3 0 2l o 2 1] ol o 2 of 7
405% 1% 9 14 0 5 5 1 4 3 1 4 o 23
505% 1% 9 8 0 6 1 4 1 1 1 3 of 17
6055 Mt 10 16 0 8 3 3 2 4 2 4 ol 26
7055 2L 2 12 0 5 3 0 3 1 0 2 of 14
[HEES 1 1 0 0 1 0 0 0 0 1 o 2
il 99] 113 0 3] 42] 16] 26] 41] 18] 26] o[ 212
FE 5
E 4R BEdLEmdst) AR
. o EHER
TORELE| RER B2 (24). SEMH(14), FIFFAT(148), KB (14).
60 1L e ° NS T HE(14), EAT(18) . 58m(18). BEH(64).
12% %457 =28M(24)
A“ TOBOWHRR
SOL‘f’&ﬁ»_ EFR(O2) BER(14). LBERE) HAR(4)
8% B (74). TER (R . #AFRIER(2KA). EEE(14)
- RBEREO(4£)
4081 < /
11%
4.' S
304t ..‘.‘ this s
3% zoﬁﬁ 16~19%% 3%
° 5%
B2l Hhigg Al
m[E Z Dt wE
0%
Bt ik
53% 47%
EHBHR

>

20%




2 kBRI

. . I T3 ) WU | 2lal | 31l | 4lE] | 4]
| |
FERB [T T 2EE | 3E B i | JEE B v | B A |k
INEAEDITE 70 13 6 4 2 HIEX 20 9 5 9 0
A 4 2 0 0 0 H IR X 22 3 7110 0
16~195% 7 3 1 0 0 FARX 5 3 2 6 0
205% 1% 7 2 1 1 0 KEX 15 4 4 3 0
305N 6 0 0 1 0 JRIX 26 7 2 4 2
405% 1% 10 6 1 6 0 HIRIEN 11 4 1 2 0
5055 1% 5 2 5 5 0 Z D 22 1 1 2 0
605t 7 2 7 IE] I AL ol ol o of 0
70m L | 4 1 4 5 0 &al 121] 31 22] 36 2
FEES 1 0 0 1 0
o2&l 121 31 22] 36 2
(L) 2 REEE FR o 2 REEH EEmF
140 140
120 120
I mEEE I
100 100 L
| B 70 E m EREE
o W60 ¢ mZ0Mh
80
m50i% R EHENR
60 401X 60 mREX
m 308 B ABER
40 m207% fX 40 HHREX
= 16~197% —_— i B EHHR
20 i . m s 20 = B I B EER
| mNBELT
0 - = _ ) iR _
I 2 3 4 " I By 3 .
Lt m B @ " L @ @ t@ @
8 8 » # » B8 B B %
T + <
3 RICADIECAHEHEE)
: ) HE |CmE | mskg i |RBRZE
ERAVIIN 1~ R - il L) e B Z Ot |
INEEDLE 14 11 10l 22 4 6] 58 2 3
FREEAE 2 2 2 2 1 1 0 0 1
16~195% 5 5 3 4 1 0 1 2 0
205% 1% 8 7 3 6 0 0 3 0 0
305% % 2 3 5 1 3 0 2 0 0
40554 10 12 20 6 3 1 1 1 0
505% 1% 8 9 13 6 3 0 2 2 0
605t 14 12 21 9 4 7 1 0 0
705 0L _E 6 9 12 4 3 4 0 0 0
HEEES 1 1 1 1 1 2 1 0 0
o8 70 71 90 61 23] 21 69 7 4
3 RICAS=Fr (EHEE)
100
B ERZE
90
80 m70m U E
70 — B 60T
60 ] W50
50
40R% 1%
40
30 - - - m30m% it
20 - - I . . m205% 1t
10 ~10
i A B B = . — - t6~19%
NE-NE ERET CEET WEKI— MR TE-EE ARZE ot RS

= =



4 SEIQORERELEZTHSAEHEE)

4. SR E RA EZ T2 GERHE)

LTI A /i e Ablenr PR 2o |mem
ALy .BDJ:< N <

INFAEDLUTE 14 3 1 1 4 55 12 6
e 0 0 0 1 0 2 2 1
16~ 195% 0 0 0 4 0 2 4 1
205% 1% 0 0 0 3 1 7 0 0
305K 0 0 1 3 1 0 2 0
405%1% 1 0 2 6 7 6 2 0
505% % 0 1 5 5 2 3 3 0
605X 0 2 6 6 8 4 3 0
705 DL _E 1 4 7 0 3 2 0 0
e ] 0 0 0 1 0 0 1 0
oEl 16 10 22] 30 26] 81 29 3

4 SEOLERZECTHO>E-MEHREIE) F4HK5

90

mEEE
80
70 - m70iF L E
60 - w60
20 50
40
30 40iE 1R
00 l . . ! w3081t
10 = .
. A m R = L B m e
TLE-S -5 mliEL Hh—L  BLL  KELT Zoft  EEE
oF Y-FerYse R—=T
<

4. AEIO R FEEE = CHIof R {EHA)
Ehg  |7VETY o fﬁ; Ab sl PR Lo |mms
& MRS e [ <

FIEX 2 3 sl 8] 9 6 7 1
IR X 7 3 3 3 2] 20 4 1
FARX 0 0 4 3 1 8 2 0
KHX 1 2 4 2 3] 11 6 0

TR 5 1 3 1 3] 19 8 2
EIRIEN 0 0 0 2 3[ 10 0 3
Z DA, 1 1 ol 11 5 7 2 1
e[| 0 0 0 0 0 0 0 0

o 16 0] 22 30] 26 81 29 3

4 SEOLERZECTH =0 (EHEZE) Bl

90

80 [ mZDth
70 RN
60 mREX

50 1 RER
40 EWE
30 L R=83:5473

20

0

TLE-SY #-#5E mRZ&Y - R—LX—
* FhYLL %

ot
>l
g

I = BEER
N =

REELT  E0ft EEEF



5 BMEFETOELRBFER

I S — |H#x
b - < EEZ:] EntoM EQORN | - < EE3 o SO0 |
[ . [ .
BRG] |EEH INA = ifi I P JEEHB] [EHE | NR e iﬁﬂﬁ e
/DNEEAEDLF 2 59 22 12 0 0 HEX 5 ol 13] 14 2 0
A 4 0 0 2 0 0 B IR X 2] 18 5] 17 0 0
16~195% 7 1 1 2 0 0 AR 0 o] 10 7 0 0
205% 1% 6 1 1 2 1 0 pNEES 10 4 8 4 0 0
30t 1 0 1 5 0 0 TRIX 1 28] 8] 2 ol 0
405%4% 5 3 7 7 1 0 YR 9 7 2 0 0 0
505% 1% 6 0 3 6 2 0 Z D 15 3 1 6 1 0
601X 4 2 10f 11 0 0 e [m] % 0 0 0 0 0 0
70/ DA I 7 3 2 1 1 0 5E 2] 69] 47 50 5 0
PR CIE-S 0 0 ol 2 ol o
oal 42 69 47] 50 5 0
(N 5 FHFEFE FERE (&) B EUXEFE B3
80 80
70 - u & 70 - m A
60 = w708 Ll E 60 mZ Dt
50 — , 50 - BEHER
20 I I W60 20 m ! 8K
30 I w50 30 I | L N=]FS
10 - I I Ao0REAT 10 I I I B EHEX
o M | =30 X 0 = nEER
E A B B % & . E A B B T &
= 2 = & o @ m 205 ¢ E X R & o @[
B B o % B B # %
H : = .
1 1t
3+ &
6 SENTEEMIEHHROKR2IORARIEILHANTLED
- - - e 20O TThH oo [ECH |
‘%ﬁﬂu S N e I e e e el Kl B
INEALTE 50 31 10 1 3 0 HIEX 19] 21 3 0 0 0
FRERAE 4 1 1 0 0 0 = R X 18] 16 5 1 2 0
16~195% 3 4 3 0 0 1 FARX 12 4 0 0 0 0
205% 1% 2 7 1 1 0 0 KEX 14 10 2 0 0 0
30mf\ 3 4 0 0 0 0 SRIX 25 13 3 0 0 0
40554\ 15 7 1 0 0 0 = IRIEN 5 5 5 1 1 1
501\ 8 7 2 0 0 0 ZDfth, 8] 16 2 0 0 0
605t 11 13 2 0 0 0 e[| % 0 0 0 0 0 0
705 0L _E 5 9 0 0 0 0 e 101] 85] 20 2 3 1
RIS 0 2 0 0 0 0
28 101 85 20 2 3 1

(N 6 TEROARZESH FHK35

120

100

80

60

40

20

mz e~ [N

HerAan ||

i

o [ 3

(N)
120
mEEE

70 E 100

m605% L 80

m50iF% M
60

40i% 1R
40
=30/t

m 202 ¢ 20

6 TEHROAEFESD FBiEHH

B@H+AN |

0 = 3

mEEE

mZDh
EHERN

RX

1 KER
EREX

m EHEFX

nFERX




7 FRELEWERWFETH

R R ‘O =
. HOKEE |BEE | B7 | HEn] N S B ||
I . I 2
GRAV:UI Rt e i P S H1 1] i@fﬁ \ %9% O P
INFEAEDUR 64 28 2 1 HEX 31 11 0 1
e 3 2 1 0 B IR X 271 13 2 0
16~195% 4 6 0 1 AR 14 2 0 0
205% 1% 5 6 0 0 pNEES 19 7 0 0
30l 6 1 0 0 TRIX 32 9 0 0
40551 % 17 6 0 0 HIREA 71 10 0 1
FUERAS 12 5 0 0 Z DO 9] 16 1 0
605t 18 8 of o AL ol ol o o0
70m L | 9 5 0 0 o 139] 68 3 2
LS 1 1 0 0
aal 139 68 3 2
Ny 7 FEERELEVWERSS EHK5 oy 7 EERELENERSH B
160 160
140 uREE LI — LE:EES
120 I " 70§L"u: 120 | oL
100 " 60R ﬁ 100 EHERN
B50/% 1% -
80 _— 408 1% 80 ;E =
oA X
60 . 3051t 60 -
. EHR
40 _— m 20 40 B e
50 l 16~19% 20 i m EHHX
o _ _ mhgs 0 —_ . EES
Jeu‘ i = 45 B/NREELT s T A Fid
4} & H = [0} = H =
sk A P = e n A3 &
fE & (R % oy L
L n L n
t= £ < x

Ly Ly



BRRIOAECAWE 177 — &R

2] SERR304E1L A 17T H ~FR%314F4 A 14 H
[N R EL 247 K

SKREE 9,243 A\,

1 MR L B

: } P EEE] e A AN ENE Z2 A 2N BT (N
INZEAEDLE 85 81 0 34] 19l 42] 10 43] 10 5 3 166
EEE 4 0 0 2 1 0 0 1 0 0 0 4
16~195% 2 0 0 0 0 0 1 1 0 0 of 2
2055 1% 7 6 0 4 3 1 1 0 0 3 iy 13
30/ 5 3 0 1 1 1 1 1 0 3 of 8
40581 9 4 0 2 5 1 3 0 0 2 of 13
50X 4 4 0 3 1 1 0 0 1 2 of 8
605% 1% 10 7 0 7 1 4 2 2 0 1 of 17
70 LA I 4 10 0 3 6 1 1 2 0 1 o 14
RS 1 0 1 0 0 0 0 0 1 1 o 2
aal 131] 115 1 56] 37] 51 19 50 12] 18 4 247

B (& mst) AR
A S
N = - &= | P [=)
sofft | ORI [ 70MELE || RO % (24)  KARET (1), £8H (18), BES(18)
3% ° ° BAT(1E)
40/% 1T

5% \“ ZOMOEBERR

. ERLI(12). BHREQA).HBR1L) . ERMB(54).
0 ZSN e FEE(22) BER(14)

0 P INBELLT
2081t — 67% st
5% | R/ZE(14)
16~198% [\ o

1% g

2%
B2 Bth ik B
o4 || |EE
%%g ERHRA | 5y 1% BER
0% 5% 23%
E vy \“
47% 3% RE

20%

2N
xez‘.{ﬁﬂ

8% B
21%




2 REEMEEK

. . PEN B WU | 2= | 3[El | 4[E] | 4=
| |
FERB [1XUHT|2EE |3EH i | SEE H11] w7 | H 0 |k
INEEDLE 126 29 2 7 1 HEX 43 8 2 3 0
e 0 1 2 1 0 B IR X 12 9 6] 10 0
16~195% 2 0 0 0 0 ERX 34 6 i 10 0
205% 1% 9 1 1 1 1 pNEES 11 5 0 3 0
30l 4 1 0 3 0 TRIX 39 6 ol 4 o
40551 % 6 3 0 4 0 HIREA 10 2 0 0 0
505 % 6 1 0 1 0 Z D 13 3 0 1 1
60/t 8 2 1 6 0 PRAEILLS 2l ol ol ol 2
7055 0L _E 2 1 3 8 0 &8 164] 39 9] 31 3
eI 1 0 0 0 1
25 164 39 9] 31 3
(v 2 REEH FRE o 2 FEEH B
180 180
160 l 160 .
140 . mEEE 140
120 m 70 L E 120 mERZE
m60% Bz
100 . 100
m50/% 1% EHERN
80 40/% 1% 30 mREX
60 m 305 o L PN=]ES
m20/% 1 EHRE
40 - 16~195% 40 — B EHHR
2 I B m s . = o . HER
CNE RS
0 = N 0 . m B _
1% 2 3 4 g (& 2 3 4 &
c 5] & 5| C + 5]
& B B oo B ) E' E‘ E 5
T + T
3 RICADI=EIAGHEHMEE)
: i Wi | g T [IRBR
‘ﬂiﬁﬂu 05 Rt i ket = nill T2 e B ZOft (R
INEALTE 22 21 19 17 5 9] 101 71 13
A 3 2 3 2 0 1 1 0 0
16~195% 1 0 0 0 0 0 0 1 0
205% 1% 7 8 7 7 2 1 5 1 0
30X 4 4 7 3 1 0 0 1 0
405%1X 7 6 8 3 2 4 2 0 0
501X 8 7 8 4 5 1 0 0 0
60% 1K 8 11 14 2 0 1 0 1 0
7055 2L 1 6 9 8 5 2 3 0 0 0
A EIES 0 0 ol ol ol of i of 1
o 66 68 74 43[  17]  20] 110 11 14
. 3 RICASI-Fr(EHEE)
I mEEE
100 m 70 Ll E
80 B 601t
60 l I I W50 1%
40/t
40
- . -
==
[ ] — 2081t
. l = . o
SNER-NE RRET CEET mEKI— HRY TE-EE ARZE o gEE

+_

=

=



4 SEIQOHANRELEZTHSAEHEE)

4. LRI A & Z T 7-0y GEAH)

AWl

TLE-FY
7

HiEE
ez
HYxr<

S -

=3
A

A—L

Ny

HblL

%
i
2

Z DA | M)

a!

/NEEZEDL T

—

s}
[\]
—

=Y

—
(=] [N}

16~197%

205 A%

305%

407%

505%

_%
A%
_%
605 R

705 LA _E

—_

A EEE

ot

(=] =1 (=] Ll (=1 =] =] Ll (=] =] [e)]

Do

9] | =] (=] |=ll (=) [=] (=] I =] [ [®LL
3] | =] L=l (21 (=] [°N) [l ol [=d (=) L

Do

OO |W W IN IO

[\

| | (@l e [Nl o (5N [\ O] [an) [an)l [a) EN]

—_

o | el 15 [980 2N (2] k=] 1 5] [¥F] [=2)
(=] | =] (=] "] [=] (=] [$%] (=] (=] (=] [$]]
o | el = = (=] (=] (== Lol £=0 =] [N

—_
—_
w
—_

4 SEIOFANERZECTH>E-MEREIE) FHK45

120
100
80
60
40

20

,

TLE-S #ifl-3#5 ML AL

oF

_—
E B =
U-FbYs R=D
<

HoL RELT Eofft  EEEF

4. é‘lﬁl@%ﬁ”)ﬁ%éf:?%mtﬂ(% )
[ e i e e I Zoofs |EErE
A L VIV E

BIEX 5 3 6 4 1 24 9 4
BT X 3 3 9 7 2] 13 1 1
FRIX 6 0 2 4 51 19] 10 5
KHX 0 0 2 2 2 8 5 0
RIX 4 2 3 3 2] 33 3 0
IR 2 0 0 2 1 6 0 1
Z DA, 0 0 0 2 4 10 1 1
[] 2% 0 0 0 0 0 1 1 2
= 20 3 221 24 17 114] 30 14

m A

m 70 E

B 60/

W 50i%
40K

Ll 2

m 20K

4 SEIOFHNBREZECTH>E-NEREE) BiEtk

120
100
80
60
40

20 | ]
o W

TLE-ST - #EE
j—

— B
H .
HiREL R—LR—

Y-FbY& D%

<

\EE

RELT  ZOf

uZ DAt
HEHE
mRE
[ ZN=]FS

E=E7EY

=



5 BMEETOELRBFER

I S — |H#x
o . EEZ:] EntoM EQORN 4| < EE3 o SO0 |
[ . [ .
INEEDLE 57 69 25 15 1 0 HEX 2] 12 8 0 0
e 1 0 2 1 0 0 BRI X 6 5] 14 0 0
16~195% 1 0 1 0 0 0 AR 25 4] 14 0 0
205% 1% 8 0 1 3 1 0 pNEES 4 6 1 0 0
30t 3 0 2 3 0 0 TRIX 20 15| 1 o o
40551 % 2 0 5 6 0 0 EHREN 1 4 0 1 0
505 % 3 0 4 1 0 0 Z D 1 3 4 1 1
601K 4 0 6 7 0 0 e [m] % 2 0 0 0 0
70/ DA [ 4 2 2 6 0 0 e~ 71 49] 42 2 1
PRACIE-S 0 0 1 ol o 1
s 383 71 9] 42 2 1
(W) 5 FHTEFE FRA SN 5 EGTEFR EEHA
90
80 . mREE 80 . mEEE
70 i ot O ] mZ Ot
60 60 I I ERRR
50 . B 60/ 1% 50 | = BREX
40 40
" B WSO AR " RER
0 = . o | EHE
0 I I woite 20 I I I " EHHE
0 —_ . m30Eft 0 - —  WERE
T X B 8B = = . T A B B T R
5 2 3 & o @B woER 5 2 R & O [
A 5 o % A B # %
= . = :
3 i
% %+
6 SEOFNEOAEZAUE IOARIILMATLE=D
ERBI |eTbilie 529 S PP JEAEHR] w55 LTh [
i il |
ANFAEDLT 83 44 27 1 9 2 I X 18 7 1 5 2
PR 2 2 0 0 0 0 IR X 18 7 0 0 0
16~195% 1 1 0 0 0 0 AR 14 8 0 4 0
2051\ 7 5 1 0 0 0 KEHX 9 2 0 0 0
305 2 6 0 0 0 0 TRIX 13 5 0 0 0
40550 5 7 1 0 0 0 EIREAN 3 5 0 0 0
501N 5 3 0 0 0 0 Z DI 10 1 0 0 0
6071 % 5 9 3 0 0 0 I [ ] 1 o o ol o
70m 2L = 4 9 1 0 0 0 T 86] 35 1 9 2
RS 0 0 2 0 0 0
2% 114 36 35 1 9 2
(L) 6 BAROARBIESS FRAE (1) 6 FAROARZESH, BiEHAl
120 120
m EREZE
100 l m 70 E 100 . u R
| Bz 04
% B 601t " . BEREN
B505% 1t mRX
0 o a0m 60 I = AEE
EHE
20 m30iF% L 20 B EHEX
B 201t || BEERX
. . I I =
16~197%
' m
& :
T B g
4
&
2

ooy

it

SeeAanr

i

wEH |

&
T
)
i
b

SOVEY

BA*+AN I
wEH |




7 FRELEWERWFETH

o |EOSREE || e | X B0 = my (e
A Lf:u\ﬁﬁ fﬁw A = SEAE A i'éﬁﬁb\ %%t 720 %E
N 94 61 10 1 HEX 29] 22 5 0
e 2 1 1 0 B IR X 25 11 1 0
16~195% 1 1 0 0 AR 311 15 5 0
2051\ 6 6 1 0 pNEES 10 9 0 0
30t 5 3 0 0 TRIX 30 20 0 0
40551 % 7 6 0 0 HIREA 8 4 0 0
FUERAS 6 2 0 0 Z DA, 7110 0 1
6052 1% 12 5 0 0 FEEEES 2 0 1 1
70m L | 8 6 0 0 e 142] 91] 12 2
R 1 0 0 1
o el 142 91 12 2

o 7 EERELELEESH ERF 7 FEEMELEVEESH BB

(AN)
160 o
140 l mEEE 140 — .
120 = 70RELE 120  Z0ft
60851
100 . :soiz 100 l HEHER
T
% - a0%Eft o o - =RE
[ N=]=3
€0 = " 308 ¢ 60 . i‘ =
40 w208t 40 f**lz
20 16~195% 20 l u iiﬁf%lz
0 m . ERE 0 . B EER
ey 1 =] o B/NEELT + e ) =
v 2 h & v & H E
x A on B x e 7 =
v h £ » Ly
fE » Ly
L h L n
1= £ 1= S

-
-



